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[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹  ƒà*¡ú

1. ™[ƒ A = { , , , }2 3 5 7  ÒÚ, t¡àÒìº Î[k¡A¡
[¤¤õ[t¡[i¡ Òº

(A) 2 Ì A

(B) { }2 Î A

(C) { }2 Í A

(D) 2 Î A

2. X * Y ƒå[i¡ ëÎiô¡ &³> ë™ X YÈ -&¹ l¡üšàƒà>
Î}J¸à 18. ™[ƒ X-&¹ l¡üšàƒà> Î}J¸à 15 *
Y-&¹ l¡üšàƒà> Î}J¸à 8 ÒÚ, t¡àÒìº X YÇ

-&¹ l¡üšàƒà> Î}J¸à Òì¤

(A) 5 (B) 8

(C) 7 (D) 3

3. ™[ƒ P m m N= Î{ : }5  &¤}

Q n Nn= Î{ : }5

ÒÚ, ë™Jàì> N  &A¡[i¡ Ñ¬à®¡à[¤A¡ Î}J¸à¹ ëÎiô¡,
t¡àÒìº

(A) Q PÌ

(B) P QÌ

(C) P Q=

(D) P Q NÈ =
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Direction : Answer the following questions

by selecting the correct option.

1. If A = { , , , }2 3 5 7 , then the correct

statement is

(A) 2 Ì A

(B) { }2 Î A

(C) { }2 Í A

(D) 2 Î A

2. X and Y are two sets such that X YÈ

has 18 elements. If X has

15 elements and Y has 8 elements,

then the number of elements in 

X YÇ  will be

(A) 5 (B) 8

(C) 7 (D) 3

3. If P m m N= Î{ : }5  and

Q n Nn= Î{ : }5

where N  is the set of natural

numbers, then

(A) Q PÌ

(B) P QÌ

(C) P Q=

(D) P Q NÈ =



4. x-&¹ ë™ ÎA¡º ³àì>¹ \>¸ f x x( ) = , 

g x x( ) ( )= 2  &¤} h x
x

x
( ) =

2

 "ìšÛ¡A¡P¡[º

"[®¡Ä, t¡à Ò’º

(A) 0 £ x

(B) 0 < x

(C) ÎA¡º ¤àÑz¤ ³à>

(D) Åè>¸ áàØl¡à ÎA¡º ¤àÑz¤ ³à>

5. šøƒv¡ [¤¤õ[t¡P¡[º ™â—ÎÒA¡àì¹ šìØl¡ Î[k¡A¡ l¡üv¡¹[i¡
[>¤¢àW¡> A¡¹ :

[¤¤õ[t¡–I :

f N N: ®  "ìšÛ¡A¡[i¡ &³>®¡àì¤ Î}`¡àt¡
ë™ f x x( ) = 2, x NÎ , &A¡[i¡ &A¡-&A¡

[W¡yo, ë™Jàì> N Òº Ñ¬à®¡à[¤A¡ Î}J¸à¹
ëÎiô¡¡ú

[¤¤õ[t¡–II :

f N N: ®  "ìšÛ¡A¡[i¡ &³>®¡àì¤ Î}`¡àt¡

ë™ f x x( ) =
1

2
, x NÎ , &A¡[i¡ [W¡yo >Ú,

ë™Jàì> N Òº Ñ¬à®¡à[¤A¡ Î}J¸à¹ ëÎiô¡¡ú

(A) [¤¤õ[t¡–I * [¤¤õ[t¡–II l¡ü®¡ÚÒü Ît¡¸

(B) [¤¤õ[t¡–I * [¤¤õ[t¡–II l¡ü®¡ÚÒü "Ît¡¸

(C) [¤¤õ[t¡–I Ît¡¸ [A¡”ñ [¤¤õ[t¡–II "Ît¡¸

(D) [¤¤õ[t¡–I "Ît¡¸ [A¡”ñ [¤¤õ[t¡–II Ît¡¸

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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4. The values of x, for which the

functions f x x( ) = , g x x( ) ( )= 2 and 

h x
x

x
( ) =

2

 are indentical, are

(A) 0 £ x

(B) 0 < x

(C) all real values

(D) all real values except 0

5. Study the given statements carefully 

and select the correct option :

Statement–I :

The function f N N: ®  defined

by f x x( ) = 2, x NÎ ; N is

a set of natural numbers, is

a one-one mapping.

Statement–II :

The function f N N: ®  defined

by f x x( ) =
1

2
 , x NÎ ; where N is

the set of natural numbers, is not 

a mapping.

(A) Both Statement–I and

Statement–II are true

(B) Both Statement–I and

Statement–II are false

(C) Statement–I is true but

Statement–II is false

(D) Statement–I is false but

Statement–II is true



6. A = { , , , }2 3 4 5  ëÎìi¡¹ l¡üš¹

        
R = {( , ), ( , ), ( , ), ( , ),

( , ), ( , ), ( , ), ( , )

2 2 3 3 4 4 5 5

2 3 3 2 3 5 5 3 }

Î´¬Þê¡[i¡ Î}`¡à[Út¡¡ú R Î´¬Þê¡[i¡

(A) Ñ¬Î³ &¤} Î}yû¡[³t¡

(B) Ñ¬Î³ &¤} šø[t¡Î³

(C) šø[t¡Î³ &¤} Î}yû¡[³t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

7. ™[ƒ S &A¡[i¡ ë\àØl¡ "Jr¡ Î}J¸à¹ ëÎiô¡ &¤} *

šøW¡[ºt¡ P¡oó¡º ë¤àc¡àÚ, t¡àÒìº

(A) ( , )S *  &A¡[i¡ Nøç¡š

(B) ( , )S *  &A¡[i¡ ³ì>àìÚl¡ [A¡”ñ Nøç¡š >Ú

(C) ( , )S *  &A¡[i¡ ëÎ[³Nøç¡š

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

8. I &A¡[i¡ "Jr¡ Î}J¸à¹ ëÎiô¡ &¤} [‡šƒ šø[yû¡Úà #
&³>®¡àì¤ Î}`¡àt¡ ë™

a b a b# = + +1, a b I, Î

( , #)I  Nøç¡š-&¹ &A¡Î³ l¡üšàƒà>[i¡ Òº

(A) 0

(B) 1

(C) -1

(D) 2
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6. Let A = { , , , }2 3 4 5  and

        
R = {( , ), ( , ), ( , ), ( , ),

( , ), ( , ), ( , ), ( , )

2 2 3 3 4 4 5 5

2 3 3 2 3 5 5 3 }

be a relation in A. Then R is

(A) reflexive and transitive

(B) reflexive and symmetric

(C) symmetric and transitive

(D) None of the above

7. If S is a set of even integers and *
is the usual multiplication, then

(A) ( , )S *  is a group

(B) ( , )S *  is a monoid but not group

(C) ( , )S *  is a semigroup

(D) None of the above

8. The identity element of the group 

( , #)I , where I is the set of all integers 

and the binary operation # defined

by a b a b# = + +1, a b I, Î  is

(A) 0

(B) 1

(C) -1

(D) 2



9. ™[ƒ

x iy
a ib

c id
+ =

+

+

ÒÚ, t¡àÒìº ( )x y2 2 2+ -&¹ Î³à>

(A)
a b

c d

2 2

2 2

+

+

(B)
a b

c d

2 2

2 2

-

+

(C)
a b

c d

2 2

2 2

-

-

(D)
( )( )

( )( )

a b c d

a b c d

- -

+ +

10. ™[ƒ x, x x2 2 1 0- + =cosq  Î³ãA¡¹oìA¡

[Î‡ý¡ A¡ì¹, t¡àÒìº x
x

n
n

+
1

-&¹ ³à> Òº

(A) 2n ncos q

(B) 2n ncos q

(C) 2cosnq

(D) 2cosn q

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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9. If

x iy
a ib

c id
+ =

+

+

then ( )x y2 2 2+  is equal to

(A)
a b

c d

2 2

2 2

+

+

(B)
a b

c d

2 2

2 2

-

+

(C)
a b

c d

2 2

2 2

-

-

(D)
( )( )

( )( )

a b c d

a b c d

- -

+ +

10. If x satisfies the equation

x x2 2 1 0- + =cosq

then the value of x
x

n
n

+
1

 is

(A) 2n ncos q

(B) 2n ncos q

(C) 2cosnq

(D) 2cosn q



11. 1 1 1

x a x b x c+
-

+
=

+
 Î³ãA¡¹ìo¹ ¤ã\P¡[º¹

P¡oó¡º 0 Òìº, ¤ã\P¡[º¹ Î³[Ê¡ Òº

(A) 0

(B)
2ab

b c+

(C)
2bc

b c+

(D) -
+

2bc

b c

12. ëƒ*Úà "àìá, x y>  &¤} z ¹ 0 ; x y z, ,

ë™-ëA¡à> ¤àÑz¤ Î}J¸à¡ú ë™ "Î³ãA¡¹o[i¡ Î¤¢ƒà
Ît¡¸ >Ú, t¡à Òº

(A) x z y z+ > +

(B) xy yz>

(C) xz yz2 2>

(D) ( ) ( )x z y z- > -

13. m-&¹ ë™ ÎA¡º ³àì>¹ \>¸

m m m3 1 1+ ³ +( )

ÒÚ, t¡à Òº

(A) - £ £1 1m

(B) m ³ 0

(C) m ³ -1

(D) m £ 0

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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11. For the equation

1 1 1

x a x b x c+
-

+
=

+

if the product of the roots is 0, then

the sum of the roots is

(A) 0

(B)
2ab

b c+

(C)
2bc

b c+

(D) -
+

2bc

b c

12. Given x y>  and z ¹ 0; x y z, ,  are

any real numbers. The inequality

which is not always true is

(A) x z y z+ > +

(B) xy yz>

(C) xz yz2 2>

(D) ( ) ( )x z y z- > -

13. The values of m for which

m m m3 1 1+ ³ +( )

are given by

(A) - £ £1 1m

(B) m ³ 0

(C) m ³ -1

(D) m £ 0



14. šø[t¡[ƒ> ÎA¡àºì¤ºà "àK¹t¡ºà ë=ìA¡ ‹³¢>K¹
W¡à¹[i¡ [®¡Ä ëi¡ö> ™àt¡àÚàt¡ A¡ì¹¡ú 10 \>
[>t¡¸™àyã "àK¹t¡ºà ë=ìA¡ ‹³¢>K¹ ™t¡¹A¡³®¡àì¤ 
°³o A¡¹ìt¡ šàì¹, t¡à Òº

(A) 40

(B) 10
4P

(C) 104

(D) 410

15. ( ) ( )7
0

7
1

7
1

7
2C C C C+ + +

+ + +L ( )7
6

7
7C C    

-&¹ ³à> Òº

(A) 2 17 -

(B) 2 28 -

(C) 2 18 -

(D) 28

16. ( )/ /x x1 6 1 3 9- - -&¹ [¤Ñtõ¡[t¡¹ x-¤[\¢t¡

šƒ[i¡ Òº

(A) -84

(B) - ×0 84

(C) 8·4

(D) 84

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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14. Four different trains run from

Agartala to Dharmanagar in every

morning. The number of ways in

which 10 daily passengers can travel 

from Agartala to Dharmanagar is

(A) 40

(B) 10
4P

(C) 104

(D) 410

15. The value of

( ) ( ) ( )7
0

7
1

7
1

7
2

7
6

7
7C C C C C C+ + + + + +L

is

(A) 2 17 -

(B) 2 28 -

(C) 2 18 -

(D) 28

16. The term independent of x in the

expansion of ( )/ /x x1 6 1 3 9- -  is

(A) -84

(B) - ×0 84

(C) 8·4

(D) 84



17. x
x

+
æ
è
ç

ö
ø
÷

1
10

-&¹ [¤Ñtõ¡[t¡¹ ³‹¸šƒ[i¡ Òº

(A) 10
6

1
C

x

(B) 10
5C

(C) 10
6C

(D) 10
7

4C x

18. 1
1

1

1

2
+ + +

æ

è
ç
ç

ö

ø
÷
÷| |

L

&¤} 1
1

1

1

2

1

3
- + - +

æ

è
ç
ç

ö

ø
÷
÷| | |

L

ëÅøoãƒå[i¡¹ P¡oó¡º Òº

(A) 1 (B) e-2

(C) -e2 (D) -1

19. ™[ƒ s r t, ,  Î³à”z¹ šøK[t¡ &¤} &A¡Òü ÎìU
P¡ìoàv¡¹ šøK[t¡ìt¡* =àìA¡ t¡àÒìº

(A) s r t= ¹

(B) s r t¹ =

(C) s r t¹ ¹

(D) s r t= =

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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17. The middle-term in the expansion of

x
x

+
æ
è
ç

ö
ø
÷

1
10

is

(A) 10
6

1
C

x

(B) 10
5C

(C) 10
6C

(D) 10
7

4C x

18. The product of the two series

1
1

1

1

2
+ + +

æ

è
ç
ç

ö

ø
÷
÷| |

L

and 1
1

1

1

2

1

3
- + - +

æ

è
ç
ç

ö

ø
÷
÷| | |

L

is

(A) 1 (B) e-2

(C) -e2 (D) -1

19. If s r t, ,  are in AP as well as in GP,

then

(A) s r t= ¹

(B) s r t¹ =

(C) s r t¹ ¹

(D) s r t= =



20. >ãìW¡¹ Ñź ±—I &¹ Îàì= Ñz´±—II ë³ºà* &¤}
>ãìW¡ šøƒv¡ ëA¡àl¡ ë=ìA¡ Î[k¡A¡ l¡üv¡¹[i¡ [W¡[Òû¡t¡
A¡ì¹à :

Ñz´±—I Ñz´±—II

a. { }-n2 ; n NÎ 1. ÎÎã³ š™¢àÚã "oåyû¡³

b. {( ) }-1n n ; n NÎ 2. yû¡³ÒùàÎ³à> "oåyû¡³

c. { ( ) }1 1+ - n ; n NÎ 3. $‹k¡¢ Îã³à¤‡ý¡ [A¡”ñ
"‹@Îã³à¤‡ý¡ >Ú

d.
1

n

ì
í
î

ü
ý
þ
; n NÎ 4. $‹k¡¢ Îã³à¤‡ý¡ ¤à

"‹@Îã³à¤‡ý¡ ëA¡à>[i¡Òü >Ú

ëA¡àl¡ :

(A) a b c d

1 2 3 4

(B) a b c d

3 1 4 2

(C) a b c d

3 4 1 2

(D) a b c d

3 4 2 1

21. 11 12 13 202 2 2 2+ + + +L -&¹ ³à> Òº

(A) 2481

(B) 2483

(C) 2485

(D) 2487

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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20. Match the Column—I with

Column—II and select the correct

option from the codes given below :

Column—I      Column—II    

a. { }-n2 ; n NÎ 1. Finitely oscillating

sequence

b. {( ) }-1n n ; n NÎ 2. Monotone decreas-

ing sequence

c. { ( ) }1 1+ - n ; n NÎ 3. Bounded above but

not bounded below

d.
1

n

ì
í
î

ü
ý
þ
; n NÎ 4. Neither bounded

above nor bounded

below

Codes :

(A) a b c d

1 2 3 4

(B) a b c d

3 1 4 2

(C) a b c d

3 4 1 2

(D) a b c d

3 4 2 1

21. The value of

   11 12 13 202 2 2 2+ + + +L

is

(A) 2481

(B) 2483

(C) 2485

(D) 2487



22. ™[ƒ

   

a b a b

b c b c

a b b c

l

l

l l

+

+

+ +

=

0

0

ÒÚ, ë™Jàì> l Åè>¸ áàØl¡à ë™-ëA¡à> ¤àÑz¤ Î}J¸à, 
t¡àÒìº a b c, , -&¹ ³ì‹¸ Î´šA¢¡[i¡ Òº

(A) Î³à”z¹ šøK[t¡

(B) P¡ìoàv¡¹ šøK[t¡

(C) [¤š¹ãt¡ šøK[t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

23. ™[ƒ D ³à> [¤[ÅÊ¡ ëA¡à> tõ¡t¡ãÚ yû¡ì³¹ [>o¢àÚìA¡¹
šø[t¡[i¡ l¡üšàƒà>ìA¡ 3 ‡à¹à P¡o A¡¹à ÒÚ, t¡àÒìº
>tå¡> [>o¢àÚA¡[i¡¹ ³à> Òì¤

(A) D

(B) 3D

(C) 9D

(D) 27D

24. ™[ƒ In  &A¡[i¡ n yû¡ì³¹ &A¡A¡ ³¸à[i¡öG ÒÚ,
t¡àÒìº ( )In

-1-&¹ Î³à>

(A) 0

(B) In

(C) n In

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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22. For a non-zero real number l, if

   

a b a b

b c b c

a b b c

l

l

l l

+

+

+ +

=

0

0

then a b c, ,  are in

(A) arithmetic progression

(B) geometric progression

(C) harmonic progression

(D) None of the above

23. If every element of a third-order

determinant of value D is multiplied

by 3, then the new determinant will

be

(A) D

(B) 3D

(C) 9D

(D) 27D

24. If In  is the unit matrix of order n,

then ( )In
-1 is equal to

(A) 0

(B) In

(C) n In

(D) None of the above



25. x-&¹ ë™ ³àì>¹ \>¸

        

2 0 7

0 1 0

1 2 1-

é

ë

ê
ê
ê

ù

û

ú
ú
ú

  &¤}  

-

- -

é

ë

ê
ê
ê

ù

û

ú
ú
ú

x x x

x x x

14 7

0 1 0

4 2

³¸à[i¡öG ƒå[i¡¹ P¡oó¡º &A¡[i¡ &A¡A¡ ³¸à[i¡öG ÒÚ,
t¡à Òº

(A)
1

2

(B)
1

3

(C)
1

4

(D)
1

5

26. ™[ƒ f x x x( ) cos sec= +2 2  ÒÚ, t¡àÒìº

(A) f x( ) < 1

(B) f x( ) = 1

(C) 2 1> >f x( )

(D) f x( ) ³ 2

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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25. The value of x for which the matrix

product of

 

2 0 7

0 1 0

1 2 1-

é

ë

ê
ê
ê

ù

û

ú
ú
ú

  and  

-

- -

é

ë

ê
ê
ê

ù

û

ú
ú
ú

x x x

x x x

14 7

0 1 0

4 2

equals an identity matrix, is

(A)
1

2

(B)
1

3

(C)
1

4

(D)
1

5

26. If f x x x( ) cos sec= +2 2 , then

(A) f x( ) < 1

(B) f x( ) = 1

(C) 2 1> >f x( )

(D) f x( ) ³ 2



27. ™[ƒ sin sinA B=  &¤} cos cosA B=  ÒÚ, 
t¡àÒìº

(A) sin ( )
1

2
0A B- =

(B) sin ( )
1

2
0A B+ =

(C) cos ( )
1

2
0A B- =

(D) cos ( )
1

2
0A B+ =

28. sin cos(sin ) cos sin(cos )- - - -+1 1 1 1x x

-&¹ ³à> Òº

(A) 0

(B)
p

4

(C)
p

2

(D) p

29. ™[ƒ cos cos cos- - -+ =1 1 1x y z ÒÚ,

t¡àÒìº x y z2 2 2+ + -&¹ ³à> Òì¤

(A) 1

(B) 2 1xyz +

(C) 2 1xyz -

(D) 1 2- xy

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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27. If sin sinA B=  and cos cosA B= ,

then

(A) sin ( )
1

2
0A B- =

(B) sin ( )
1

2
0A B+ =

(C) cos ( )
1

2
0A B- =

(D) cos ( )
1

2
0A B+ =

28. The value of

        sin cos(sin ) cos sin(cos )- - - -+1 1 1 1x x

is

(A) 0

(B)
p

4

(C)
p

2

(D) p

29. If cos cos cos- - -+ =1 1 1x y z, then 

x y z2 2 2+ +  will be

(A) 1

(B) 2 1xyz +

(C) 2 1xyz -

(D) 1 2- xy



30. ™[ƒ A c= °-sin sin57 1  ÒÚ, t¡àÒìº

(A) A < 0

(B) A = 0

(C) A > 0

(D) A = 1

31. ™[ƒ

sin sin sin sin secq q q q a+ + + + ¥ =L 4

ÒÚ, t¡àÒìº sinq Î³à>

(A) sec2 a

(B) tan2 a

(C) sec tan2 2a a

(D) cos2 a

32. ‹¹à ™àA¡

f x
x

x
( )

,

,
=

-

+

ì
í
î

3 4

2 l
        

™[ƒ x = 2 [¤–ƒåìt¡ f x( ) Î”zt¡ ÒÚ, t¡àÒìº
l-&¹ ³à> Òº

(A) -1

(B) -2

(C) 0

(D) 2

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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30. If A c= °-sin sin57 1 , then

(A) A < 0

(B) A = 0

(C) A > 0

(D) A = 1

31. If

sin sin sin sin sec ,q q q q a+ + + + ¥ =L 4

then sinq is equal to

(A) sec2 a

(B) tan2 a

(C) sec tan2 2a a

(D) cos2 a

32. Let

        f x
x x

x x
( )

,

,
=

- £ £

+ < £

ì
í
î

3 4 0 2

2 2 3

for

forl

If f x( ) is continuous at x = 2, then l

is

(A) -1

(B) -2

(C) 0

(D) 2

™J>  0 2£ £x

™J>  2 3< £x



33. ™[ƒ n &A¡[i¡ ‹>àuA¡ "Jr¡ Î}J¸à ÒÚ, t¡àÒìº

    lim
x

n n
n

n n
n

x a x a

x b x b® ¥

-

-

+ + +

+ + +

1
1

1
1

L

L

-&¹ ³à> Òì¤

(A) 1

(B)
a

b
n

n

(C) 0

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

34. ( , )1 1 [¤–ƒåìt¡ 2 3 2y x= -  ¤ìyû¡¹ "[®¡ºì´¬¹

Î³ãA¡¹o[i¡ Òº

(A) x y+ = 0

(B) x y+ + =1 0

(C) x y- + =1 0

(D) x y- = 0

35. ‹¹à ™àA¡,

        f b f a b a f x( ) ( ) ( ) ( )- = - ¢ 1 ; a x b< <1

™[ƒ f x
x

( ) =
1

 ÒÚ, t¡àÒìº x1-&¹ ³à> Òº

(A) ab

(B)
a b+

2

(C)
2ab

a b+

(D)
b a

b a

-

+

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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33. If n is a positive integer, then the

value of

    lim
x

n n
n

n n
n

x a x a

x b x b® ¥

-

-

+ + +

+ + +

1
1

1
1

L

L

is

(A) 1

(B)
a

b
n

n

(C) 0

(D) None of the above

34. The equation of normal at the point 

( , )1 1 on the curve 2 3 2y x= -  is

(A) x y+ = 0

(B) x y+ + =1 0

(C) x y- + =1 0

(D) x y- = 0

35. Let

        f b f a b a f x( ) ( ) ( ) ( )- = - ¢ 1 ; a x b< <1

If f x
x

( ) =
1

, then x1 is

(A) ab

(B)
a b+

2

(C)
2ab

a b+

(D)
b a

b a

-

+



36. ™[ƒ x * y-&¹ ÎA¡º ¤àÑz¤ ³àì>¹ \>¸ 
f x y f x f y( ) ( ) ( )+ =  ÒÚ, &¤} f ( )5 2= , 

¢ =f ( )0 3 ÒÚ, t¡ì¤ ¢f ( )5-&¹ ³à> Òì¤

(A) 2

(B) 3

(C) 4

(D) 6

37. ™[ƒ x y+ = 3 ÒÚ, t¡àÒìº 
9 36

x y
+

"ìšÛ¡ìA¡¹ W¡¹³ ³à> Òº

(A) 1

(B) 2

(C) 3

(D) 4

38. cos log
/

/
x

x

x
dx

1

11 2

1 2 +

--
ò -&¹ ³à> Î³à>

(A) log3

(B) cos log1 2

(C) 0

(D) 1

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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36. If f x y f x f y( ) ( ) ( )+ =  and f ( )5 2= , 

¢ =f ( )0 3, for all real numbers x and

y; then the value of ¢f ( )5  is

(A) 2

(B) 3

(C) 4

(D) 6

37. If x y+ = 3, then the maximum value 

of the function 
9 36

x y
+  is

(A) 1

(B) 2

(C) 3

(D) 4

38. The value of

cos log
/

/
x

x

x
dx

1

11 2

1 2 +

--
ò

is equal to

(A) log3

(B) cos log1 2

(C) 0

(D) 1



39. lim
n n n® ¥ -

+
-

é

ë
ê
ê

1

1

1

22 2 2 2

+ +
-

ù

û
úL

1

2 1( )n
    

-&¹ Î³à>

(A)
p

4

(B)
p

2

(C) p

(D) 2p

40. ™[ƒ

       I
dt

tx1 2

1

1
=

+
ò   &¤}  I

dt

t

x
2 21

1

1
=

+
ò

/

x > 0 ÒÚ, t¡àÒìº

(A) I I1 2=

(B) I I1 2>

(C) I I2 1>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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39. lim
n n n® ¥ -

+
-

é

ë
ê
ê

1

1

1

22 2 2 2

+ +
-

ù

û
úL

1

2 1( )n
    

is equal to

(A)
p

4

(B)
p

2

(C) p

(D) 2p

40. If

       I
dt

tx1 2

1

1
=

+
ò   and  I

dt

t

x

2 21

1

1
=

+
ò

/

for x > 0, then

(A) I I1 2=

(B) I I1 2>

(C) I I2 1>

(D) None of the above



41.
1

2
1 2

2

2
( cos )

/

/
+

é

ëê
ù

ûú-ò x dx
p

p
-&¹ ³à> Òº

(A) 0

(B) 2

(C)
1

2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

42. y x= - +2 6, y x= 4  &¤} y = 0

Î¹ºì¹JàP¡[º ‡à¹à Îã³à¤‡ý¡ "e¡º[i¡¹ ëÛ¡yó¡º

(A) 9 ¤K¢ &A¡A¡

(B) 6 ¤K¢ &A¡A¡

(C) 4 ¤K¢ &A¡A¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

43. G( )n e x dxx n= - -¥

ò
1

0
 "[®¡Îà¹ã Òì¤, ™[ƒ

(A) n < 0

(B) n ³ 0

(C) n > 0

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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41. The value of

1

2
1 2

2

2
( cos )

/

/
+

é

ëê
ù

ûú-ò x dx
p

p

is

(A) 0

(B) 2

(C)
1

2

(D) None of the above

42. Area bounded by the lines 

y x= - +2 6, y x= 4  and y = 0 is

(A) 9 sq units

(B) 6 sq units

(C) 4 sq units

(D) None of the above

43. G( )n e x dxx n= - -¥

ò
1

0
 converges, if

(A) n < 0

(B) n ³ 0

(C) n > 0

(D) None of the above



44. x dy ydx- = 0 "¤A¡º Î³ãA¡¹o[i¡¹ Î³à‹à>
[>ìƒ¢Å A¡ì¹

(A) Î³š¹à¤õv¡

(B) "[‹¤õv¡ ™à¹ ÅãÈ¢[¤–ƒå Òº ³èº[¤–ƒå

(C) ¤õv¡ ™à¹ ëA¡–ƒø ³èº[¤–ƒå

(D) ³èº[¤–ƒåKà³ã Î¹ºì¹Jà

45. ë™ "¤A¡º Î³ãA¡¹ìo¹ Îà‹à¹o Î³à‹à>

    y A
B

x
= +  (A, B  ™ƒõZá ‹øç¡¤A¡)

t¡à Òº

(A)
d y

dx x

dy

dx

2

2

2
0+ =

(B)
d y

dx

dy

dx

2

2
0+ =

(C)
d y

dx

dy

dx
y

2

2
2 2 0+ + =

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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44. The solution of differential equation 

x dy ydx- = 0 represents

(A) rectangular hyperbola

(B) parabola whose vertex is at

origin

(C) circle through centre is at origin

(D) straight line passing through

the origin

45. y A
B

x
= +  (A, B  being arbitrary

constants) is the general solution of

the differential equation

(A)
d y

dx x

dy

dx

2

2

2
0+ =

(B)
d y

dx

dy

dx

2

2
0+ =

(C)
d y

dx

dy

dx
y

2

2
2 2 0+ + =

(D) None of the above



46. d y

dx
y x

2

2
2+ = cos  "¤A¡º Î³ãA¡¹ìo¹ Îà‹à¹o 

Î³à‹à> Òº

(A) y A x B x x= + +cos sin cos
1

3
2

(B) y A x B x x= + -cos sin cos
1

3
2

(C) y A x B x x= + +cos sin sin
1

3
2

(D) y A x B x x= + -cos sin sin
1

3
2

47. ™J> x = 0, y = 3 &¤} 
dy

dx
= 0, t¡J>

d y

dx

dy

dx
y

2

2
2 0+ - =

"¤A¡º Î³ãA¡¹o[i¡¹ Î³à‹à> Òº

(A) y e ex x= + 2 2

(B) y e ex x= + -2 2

(C) y e ex x= + -2 3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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46. The general solution of the

differential equation 

d y

dx
y x

2

2
2+ = cos

is

(A) y A x B x x= + +cos sin cos
1

3
2

(B) y A x B x x= + -cos sin cos
1

3
2

(C) y A x B x x= + +cos sin sin
1

3
2

(D) y A x B x x= + -cos sin sin
1

3
2

47. The solution of the differential

equation

d y

dx

dy

dx
y

2

2
2 0+ - =

when x = 0, y = 3 and 
dy

dx
= 0 is

(A) y e ex x= + 2 2

(B) y e ex x= + -2 2

(C) y e ex x= + -2 3

(D) None of the above



48. ™[ƒ ¢ =f x x f x( ) ( ) &¤} f ( )0 1=  ÒÚ, t¡àÒìº 
f x( )-&¹ ³à> Òº

(A) ex

(B) e2

(C) ex2

(D) e
x

1

2
2

49. y f x= ( ) ¤ìyû¡¹ >[t¡ sin2 x. ™[ƒ ¤yû¡[i¡

³èº[¤–ƒåKà³ã ÒÚ, t¡àÒìº t¡à¹ Î³ãA¡¹o Òº

(A) y x x x= + sin cos

(B) 2y x x x= - sin cos

(C) y x x x= - sin cos

(D) 2y x x x= + sin cos

50. >ãìW¡¹ ëA¡à>ô [¤¤õ[t¡[i¡ Î[k¡A¡ >Ú?

(A)
r r r r r r
a b c a b c´ ´ ¹ ´ ´( ) ( )

(B) [ ] [ ]
rrr rrr
a a c a b b= = 0

(C)
r r r r r r r r r
a b c a c b a b c´ ´ = × + ×( ) ( ) ( )

(D) [ ] [ ]
rrr rrr
a b c c a b=

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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48. If ¢ =f x x f x( ) ( ) and f ( )0 1= , then f x( )

is equal to

(A) ex

(B) e2

(C) ex2

(D) e
x

1

2
2

49. The slope of a curve y f x= ( ) is

sin2 x. If the curve passes through

the origin, its equation is

(A) y x x x= + sin cos

(B) 2y x x x= - sin cos

(C) y x x x= - sin cos

(D) 2y x x x= + sin cos

50. Which of the following statements is

incorrect ?

(A)
r r r r r r
a b c a b c´ ´ ¹ ´ ´( ) ( )

(B) [ ] [ ]
rrr rrr
a a c a b b= = 0

(C)
r r r r r r r r r
a b c a c b a b c´ ´ = × + ×( ) ( ) ( )

(D) [ ] [ ]
rrr rrr
a b c c a b=



51.
r
p &¤} 

r
q  ƒå[i¡ &A¡A¡ ë®¡C¡¹ Òìº, 

r r
p q´  *

&A¡[i¡ &A¡A¡ ë®¡C¡¹ Òì¤ ™[ƒ

(A)
r
p &¤} 

r
q  Î³à”z¹àº ÒÚ

(B)
r
p &¤} 

r
q  š¹Ñš¹ º´¬ ÒÚ

(C)
r
p &¤} 

r
q  &¹ ³‹¸¤t¢¡ã ëA¡ào 30° ÒÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

52. ™[ƒ 
r r
x m× = 0, 

r r
x n× = 0 &¤} 

r r
x p× = 0 ÒÚ, 

ë™Jàì> 
r
x  Åè>¸ ë®¡C¡¹ >Ú, t¡àÒìº

[ ]
r r r
m n p -&¹ ³à> Òº

(A) 0

(B) 1

(C) 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

53. ( , , )3 4 7-  ë®¡C¡ì¹¹ l¡üš¹ º´¬ &¤} ( , , )2 3 1-

[¤–ƒåKà³ã Î³t¡ìº¹ Î³ãA¡¹o Òº

(A) 3 4 7 0x y z+ - =

(B) 3 4 7 13 0x y z+ - + =

(C) 3 4 7 13 0x y z- + + =

(D) 3 4 7 13 0x y z- - - =

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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51.
r
p and 

r
q  are two unit vectors. 

r r
p q´  is 

also a unit vector, if

(A)
r
p and 

r
q  are parallel

(B)
r
p and 

r
q  are perpendicular

(C)
r
p and 

r
q  are inclined at 30°

(D) None of the above

52. If 
r r
x m× = 0, 

r r
x n× = 0 and 

r r
x p× = 0

for some non-zero vector 
r
x , then 

[ ]
r r r
m n p  is equal to

(A) 0

(B) 1

(C) 2

(D) None of the above

53. The equation of the plane passing

through the point ( , , )2 3 1-  and

perpendicular to the vector ( , , )3 4 7-

is

(A) 3 4 7 0x y z+ - =

(B) 3 4 7 13 0x y z+ - + =

(C) 3 4 7 13 0x y z- + + =

(D) 3 4 7 13 0x y z- - - =



54. A( , , )2 1 3- - , B ( , , )4 1 3 , C ( , , )3 2 1-  &¤} 
D( , , )1 4 2  ÅãÈ¢[¤–ƒå Î³[Þt¡ W¡tå¡ÑzºA¡[i¡¹ Q>ó¡º
Òº

(A) 7
1

3
 Q> &A¡A¡

(B) 7
1

2
 Q> &A¡A¡

(C)
7

2
 Q> &A¡A¡

(D)  l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

55. ‘d’-&¹ ë™ ³àì>¹ \>¸

       
r
V x y i y z j x dz k= + + - + +( ) $ ( ) $ ( ) $3 2

ë®¡C¡¹[i¡ &A¡[i¡ Î[º>Úl¡àºô Òì¤, t¡à Òº

(A) 0

(B) 1

(C) 2

(D) -2

56. ³èº[¤–ƒå¹ ÎàìšìÛ¡ ë™ Qèo¢>ìA¡ào x y2 2 4- =

Î³ãA¡¹oìA¡ ¢ ¢ + =x y 2 0 Î³ãA¡¹ìo ¹ê¡šà”z[¹t¡
A¡ì¹, t¡à Òº

(A) 30°

(B) 45°

(C) 60°

(D) 90°

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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54. The volume of the tetrahedron

whose vertices are A( , , )2 1 3- - , 

B ( , , )4 1 3 , C ( , , )3 2 1-  and D( , , )1 4 2  is

(A) 7
1

3
 cu bic units

(B) 7
1

2
 cu bic units

(C)
7

2
 cu bic units

(D) None of the above

55. If the vector

       
r
V x y i y z j x dz k= + + - + +( ) $ ( ) $ ( ) $3 2

becomes solenoidal, then the value

of ‘d’ is

(A) 0

(B) 1

(C) 2

(D) -2

56. The angle of rotation about the

origin which transforms the

equation x y2 2 4- =  into ¢ ¢ + =x y 2 0

is

(A) 30°

(B) 45°

(C) 60°

(D) 90°



57. 2 7 2 02 2x xy y- + =  Î¹ºì¹Jà ™åKìº¹

³‹¸A¡à¹ ëA¡àìo¹ Î³[‡Jr¡A¡P¡[º¹ &A¡[i¡ Òº

(A) x = 0

(B) y = 0

(C) x y+ + =1 0

(D) x y=

58.   ax hxy by gx fy c2 22 2 2 0+ + + + + =

 Î³ãA¡¹o[i¡ &A¡[i¡ ¤õv¡ìA¡ šøA¡àÅ A¡¹ì¤, ™[ƒ

(A) a = 1, b = 1 &¤} h = 1

(B) a b=  &¤} h = 1

(C) a b=  &¤} h = 0

(D) a b= = 0 &¤} h = 0

59. 2 3 0x y- - =  Î¹ºì¹Jà¹ l¡üš¹ y x2 8=

"[‹¤õv¡ ‡à¹à J[r¡t¡ \¸à-&¹ íƒQ¸¢ Òº

(A) 4 5 &A¡A¡

(B) 4 2 &A¡A¡

(C) 5 2 &A¡A¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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57. One of the bisectors of the angle

between the pair of straight lines 

2 7 2 02 2x xy y- + =  is

(A) x = 0

(B) y = 0

(C) x y+ + =1 0

(D) x y=

58. The equation

        ax hxy by gx fy c2 22 2 2 0+ + + + + =

will represent a circle if

(A) a = 1, b = 1 and h = 1

(B) a b=  and h = 1

(C) a b=  and h = 0

(D) a b= = 0 and h = 0

59. The length of the chord intercepted

by the parabola y x2 8=  on the

straight line 2 3 0x y- - =  is

(A) 4 5 units

(B) 4 2 units

(C) 5 2 units

(D) None of the above



60. ( , , )2 3 1, ( , , )-2 2 0  &¤} ( , , )0 1 1-  [¤–ƒå [t¡>[i¡ 
‡à¹à K[k¡t¡ [y®å¡\[i¡ Òº

(A) ÎèÜìA¡àoã

(B) Î³ìA¡àoã

(C) Ñ‚éºìA¡àoã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

61. ax by cz d+ + + = 0 Î³t¡º[i¡ xy-t¡ìº¹
Î³à”z¹àº Òì¤, ™[ƒ

(A) c = 0

(B) a b= = 0

(C) a c= = 0

(D) d = 0

62. x y z-
=

-
=

-15

3

29

8

5

5

&¤}
x y z-

=
- -

=
-

-

8

3

9

16

10

7

Î¹ºì¹Jà‡ìÚ¹ ³‹¸¤t¢¡ã ÒùÑ¬t¡³ ƒè¹Œ Òº

(A) 12 &A¡A¡

(B) 12 3 &A¡A¡

(C) 14 &A¡A¡

(D) 14 3 &A¡A¡
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60. The triangle formed by the points 

( , , )2 3 1, ( , , )-2 2 0  and ( , , )0 1 1-  is

(A) acute-angled

(B) right-angled

(C) obtuse-angled

(D) None of the above

61. The plane ax by cz d+ + + = 0 is

parallel to the xy-plane, if

(A) c = 0

(B) a b= = 0

(C) a c= = 0

(D) d = 0

62. The shortest distance between two

straight lines

x y z-
=

-
=

-15

3

29

8

5

5

and
x y z-

=
- -

=
-

-

8

3

9

16

10

7

is

(A) 12 units

(B) 12 3 units

(C) 14 units

(D) 14 3 units



63. x y z2 2 2 25+ + = , x y z+ + + =2 2 9 0

¤õìv¡¹ ¤¸àÎà‹¢ Òº

(A) 2 &A¡A¡

(B) 3 &A¡A¡

(C) 4 &A¡A¡

(D) 5 &A¡A¡

64. c-&¹ ë™ ³àì>¹ \>¸ x y z c+ + =  Î³t¡º[i¡

        x y z x y z2 2 2 2 2 2 6 0+ + - - - - =

ëKàºA¡ìA¡ ÑšÅ¢ A¡ì¹, t¡à Òº

(A) 3 1 3( )±

(B) 1 3±

(C) 2 1 3( )±

(D) 3 1 2 3( )±

65. í¹[JA¡ ëšøàNøà³ô[¤[‹ Î³Î¸à

  Maximize    Z x x= +3 41 2

    subject to

  

x x

x x

x x

1 2

1 2

1 2

1

0

0

- £ -

- + £

³,

&¹

(A) ëA¡à> A¡à™¢A¡¹ Î³à‹à> ë>Òü

(B) "[>[ƒ¢Ê¡ Î}J¸A¡ Î³à‹à> ¹ìÚìá

(C) "Îã³à¤‡ý¡ Î³à‹à> ¹ìÚìá

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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63. The radius of the circle

x y z2 2 2 25+ + = ,  x y z+ + + =2 2 9 0

is

(A) 2 units

(B) 3 units

(C) 4 units

(D) 5 units

64. The value of c for which the plane 

x y z c+ + =  touches the sphere

        x y z x y z2 2 2 2 2 2 6 0+ + - - - - =

is

(A) 3 1 3( )±

(B) 1 3±

(C) 2 1 3( )±

(D) 3 1 2 3( )±

65. The linear programming problem

  Maximize    Z x x= +3 41 2

    subject to

  

x x

x x

x x

1 2

1 2

1 2

1

0

0

- £ -

- + £

³,

has

(A) no feasible solution

(B) infinite number of solutions

(C) unbounded solutions

(D) None of the above



66. S x y E x y= Î £ £{( , ) ; | | ,| | }2 1 1  ëÎìi¡¹

šøà[”zA¡ [¤–ƒåP¡[º Òº

(A) {( , ), ( , ), ( , )}0 0 1 1 1 1- -

(B) {( , ), ( , )}1 1 1 1- -

(C) {( , ), ( , ), ( , ), ( , )}1 1 1 1 1 1 1 1- - - -

(D) {( , ), ( , )}1 1 1 1- -

67. >ãìW¡¹ Ñź ±—I &¹ Îàì= Ñz´±—II ë³ºà* &¤}
>ãìW¡ šøƒv¡ ëA¡àl¡ ë=ìA¡ Î[k¡A¡ l¡üv¡¹[i¡ [W¡[Òû¡t¡
A¡ì¹à :

Ñz´±—I Ñz´±—II

a. ƒå[i¡ l¡üv¡º ëÎìi¡¹ Î}ì™àK 1. E 3-&¹ \>¸ [®¡[v¡
Kk¡> A¡ì¹

b. &A¡[i¡ ¤õv¡àA¡à¹ W¡àAô¡[t¡ 2. í¹[JA¡®¡àì¤ [>®¢¡¹Åãº
c. ( , , )-1 1 0, ( , , )1 1 0  &¤}

( , , )0 0 1 ë®¡C¡¹Î³èÒ
3. &A¡[i¡ l¡üv¡º ëÎiô¡

d. ( , , )2 3 1, ( , , )2 1 3  &¤}
( , , )1 1 1 ë®¡C¡¹Î³èÒ

4. &A¡[i¡ l¡üv¡º ëÎiô¡ >à*
Òìt¡ šàì¹

ëA¡àl¡ :

(A) a b c d

4 3 1 2

(B) a b c d

3 4 1 2

(C) a b c d

4 3 2 1

(D) a b c d

2 1 3 4
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66. The extreme points of the set

      S x y E x y= Î £ £{( , ) ; | | ,| | }2 1 1

are

(A) {( , ), ( , ), ( , )}0 0 1 1 1 1- -

(B) {( , ), ( , )}1 1 1 1- -

(C) {( , ), ( , ), ( , ), ( , )}1 1 1 1 1 1 1 1- - - -

(D) {( , ), ( , )}1 1 1 1- -

67. Match the Column—I with

Column—II and select the correct

option from the codes given below :

Column—I      Column—II    

a. Union of two convex

sets

1. forms a basis

for E 3

b. A circular disc 2. are linearly

dependent

c. The vectors ( , , )-1 1 0, 

( , , )1 1 0 and ( , , )0 0 1

3. is a convex set

d. The vectors ( , , )2 3 1, 

( , , )2 1 3 and ( , , )1 1 1

4. may not be a

convex set

Codes :

(A) a b c d

4 3 1 2

(B) a b c d

3 4 1 2

(C) a b c d

4 3 2 1

(D) a b c d

2 1 3 4



68. P, Q &¤} R [t¡>[i¡ x-&¹ [¤[®¡Ä ³àì>¹ ëÎiô¡

P : 2, 3, 7, 1, 3, 2, 3

Q : 7, 5, 9, 12, 5, 3, 8

R : 4, 4, 11, 7, 2, 3, 4

Î[k¡A¡ [¤¤õ[t¡[i¡ [>¤¢àW¡> A¡¹ :

(A) P-&¹ KØl¡, R-&¹ Î}J¸àK[¹Ë¡ ³àì>¹
Î³à>

(B) P-&¹ KØl¡, ³‹¸³à * Î}J¸àK[¹Ë¡ ³à>
Î³à>

(C) R-&¹ KØl¡, Q-&¹ ³‹¸³à¹ Î³à>

(D) Q-&¹ ³‹¸³à, P-&¹ Î}J¸àK[¹Ë¡ ³àì>¹
Î³à>

69.
x

5
, x, 

x

4
, 

x

2
 &¤} 

x

3
-&¹ ³‹¸³à 8 Ò’ìº

(ë™Jàì> x > 0), x-&¹ ³à> Òì¤

(A) 24

(B) 32

(C) 8

(D) 16
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68. P, Q and R are three sets of different

values of x

P : 2, 3, 7, 1, 3, 2, 3

Q : 7, 5, 9, 12, 5, 3, 8

R : 4, 4, 11, 7, 2, 3, 4

Select the correct statement from

the following :

(A) Mean of P is equal to mode of R

(B) Mean, median and mode of P

are same

(C) Mean of R is equal to median

of Q

(D) Median of Q is equal to mode

of P

69. If the median of 
x

5
, x, 

x

4
, 

x

2
 and 

x

3

(where x > 0) is 8, then the value of x

will be

(A) 24

(B) 32

(C) 8

(D) 16



70. 6, 8, 10, 12, 14-&¹ Î³A¡ šà=¢A¡¸ Òº

(A) 1

(B) 0

(C) 8

(D) 2·73

71. ³‹¸³à¹ ÎàìšìÛ¡

8, 15, 53, 49, 19, 62, 7, 15, 95, 77

&¹ KØl¡ šà=¢A¡¸ Òº

(A) 27

(B) 27·2

(C) 27·5

(D) 27·75

72. x * y-&¹ ÎÒÎ´¬Þê¡ P¡oàS¡ 0·5 Òìº 7x * 
-2y-&¹ ÎÒÎ´¬Þê¡ P¡oàS¡ Òº

(A) 0·5

(B) – 0·5

(C) – 14

(D) – 14·5
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70. The standard deviation of

6, 8, 10, 12, 14

is

(A) 1

(B) 0

(C) 8

(D) 2·73

71. The mean deviation of the values

8, 15, 53, 49, 19, 62, 7, 15, 95, 77

about the median is

(A) 27

(B) 27·2

(C) 27·5

(D) 27·75

72. If the correlation coefficient between

x and y is 0·5, then the correlation

coefficient between 7x and -2y is

(A) 0·5

(B) – 0·5

(C) – 14

(D) – 14·5



73. &A¡[i¡ ëcò¡àA¡Òã> ³å‰à 100 ¤à¹ i¡Îô A¡¹à Òº¡ú
[¤ì\àØl¡ Î}J¸A¡¤à¹ ëi¡ºô šà*Úà¹ Î´±à¤>à Òº

(A)
1

2

(B)
1

8

(C)
3

8

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

74. 8[i¡ Aå¡Aå¡¹ * 8[i¡ [¤Øl¡àº &A¡Òü ºàÒüì> ¤ìÎ
"àìá¡ú 8[i¡ [¤Øl¡àº &A¡ÎìU ¤Îà¹ Î´±à¤>à Òº

(A)
| |

|

2 8

16

´

(B)
| |

|

8 8

16

´

(C)
| |

|

8 9

16

´

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

75. PROBABILITY Å¦[i¡ ë=ìA¡ &A¡[i¡ ¤o¢
™àƒõ[ZáA¡®¡àì¤ [>¤à¢W¡> A¡¹à Òº¡ú &[i¡ Ñ¬¹¤o¢
Ò*Úà¹ Î´±à¤>à Òº

(A)
1

11

(B)
2

11

(C)
3

11

(D)
4

11
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73. A fair coin is tossed 100 times. The

probability of getting tails an odd

number of times is

(A)
1

2

(B)
1

8

(C)
3

8

(D) None of the above

74. 8 dogs and 8 cats sit in a row. The

probability of the 8 cats to sit

together is

(A)
| |

|

2 8

16

´

(B)
| |

|

8 8

16

´

(C)
| |

|

8 9

16

´

(D) None of the above

75. A single letter is selected at random

from the word PROBABILITY. The

probability that it is a vowel is

(A)
1

11

(B)
2

11

(C)
3

11

(D)
4

11
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